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BEFE V—_Xf A—F HEBMN ~f7ai—vh (pSv) /h

B EE Bl e
B ST 1m |50cm BB 1m |50cm
D@ *x 18 Hy 0.06 | 0.07 |® ® P4 it} 0.04 | 0.04
@ #F VN 1B 0.040.04 |® /EK,yFBEE|0.04 | 0.05
HEH F¥R27TES5ATH
HEFE P—_f A—F HEBMN ~Af7ai—Ls (uSv) /h
B EfE B EE
BB 1 m |50cm BB 1 m |50cm
D@ *x 18 Hh 0.07 | 0.07 |® # P itk 0.04 | 0.04
@ # N & 0.04 | 0.04 |@® /EKyFRBEE | 0.05| 0.05
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B S T 1 m |50cm BB 1m |50cm
D@ *x 14 Hi 0.06 | 0.07 |® ® P4 it} 0.03 | 0.04
@ #F N i 0.040.04 |® /EKyFRBEE|0.04 | 0.05
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D@ *x 18 Hh 0.05 | 0.06 |® & P itk 0.03 | 0.04
@ #F N & 0.03 | 0.04 |@® /HEK,yFRBEE|0.04 | 0.05
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BB 1 m |50cm B BT 1 m |50cm
D@ *x 18 Hh 0.06 | 0.06 |® & P i 0.04 |1 0.03
@ # N i 0.04 | 0.04 |@® /HEKR>FERYEE|0.04 | 0.04
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O *x & # |10.06[006(® % M #w |0.03]|0.03
@ # N i 0.04 | 0.05 |@® /HEK>FEREE|0.05] 0.04
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B EE BEE
B S T 1m [50cm BB 1m |50cm
D@ *x 14 Hi 0.05]0.05|® # P4 it} 0.03 | 0.03
@ #F N i 0.04 ] 0.04 |® /AR,y FEBEE|0.04 | 0.04
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B EE B E
BB 1 m |50cm BB 1 m |50cm
D@ *x 18 Hh 0.07 [ 0.07 |® ® P itk 0.03 | 0.04
@ #F N & 0.05 | 0.05 |@® /EK,yFRBEE | 0.04 | 0.05




